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i~ (10 %) What kind of preferences are represented by a utility function of the form

u(x,%)=x+x, 2 (5 43) Is the utility function v(x,%,) =22 +2x,/x, +J§ a monotonic

transformation of u(x,,x,)? why? (5 43)

7N~ (10 %) Suppose that all consumers view red pencils and blue pencils as perfect substitutes.
Suppose that the supply curve for red pencils is upward sloping. Let the price of red pencils and
blue pencils be pr and ps. What would happen if the government put a tax only on red pencils?
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1=~ (10 %) Disneyland also offers a discount on admissions to residents of Southern California.
(You show them your zip code at the gate.) What kind of price discrimination is this? (5 43) What
does this imply about the elasticity of demand for Disney attractions by Southern Californians? (5

73)

J\~ (10 %) Please define Pareto efficient allocation and competitive equilibrium allocation? (5 a3)

Please explain why X in the following Edgeworth box is a Pareto.efficient allocation, but not a
competitive equilibrium allocation? (5 43) :
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A Pareto efﬂclent allocatmn tlmf. is not, an equxhbnum
. It is possible to find Paréto efficient allocations such as X i
 this diagram that.cann _':'i'xctneved by compemtwe markets i
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JL+ (10 %) Consider the tit-for-tat strategy in the repeated prisoner’s dilemma. Suppose that one
player makes a mistake and defects when he meant to cooperate. If both players continue to play
tit for tat after that, what happens?
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